


04

48: (

@
@

0.00%




02




02

1

1

1
20 m3
20 m2

1

7.5km DID
0.28m3( 0.2m3) 20 m3 C )

20 m3

1

1
10 m3
10 m3




JIS

150kg/

28

m2

(

10

m3

RC-40

11

11

11

m2




15cm 13 7
( )
5 m2 8
7.0km DID
) 0 m3 9 ( )
10t,4t,2t
1
1
0 m3 8
( ) 14.4km DID
0 m3 10 ( )
( ) 10t,4t,2t
2
1
1
)1 50mm 1.4m
(20) 6 m2 11 2.35
) M-30
100mm 1 6 m2 12




215cm2
13

235cm2

11

13







VI-21

1
JIS 150kg/ m2
( ,
- m2
- -<JISA5371> 41.2kg
280x 420x 350, 8.5 /m2 m2
18-8-40 W/C60% 358 m3




10

14

m3

14

18-8-40

60%
(




10

49

m3

15

18-8-40

60%

08

m2




10

25

m3

16

18-8-40

60%

m2

17

10




18-8-40

60%

97 m3 18
46 m2 19
09 m2 20
09 m2

11




18-8-40

60%

65 m3 18
33 m2 19
77 m2 20
77 m2

12




10

m2

(

)

10

m2

21

17

m3

22

18-8-40

60%

13




VI-19

m3

m3

14




18-8-40 W/C60%

m3

18-8-40 W/C(60 ),

m3

15




11-11

001-1 4

m3

()

Q)

29.89

)L

0.28m3[

2
0.2m3]

29.89

59.07

59.07

11.04

,2  4KL

11.04

[J2] = 5

16




11-76 025-1

() Q)

10.73

> ( ) 1,2,3
0.8m3(  0.6) 10.73

79.58

38.21

22.05

19.32

,2  4KL 9.69

[J1

el

o

2 [J3
1 [3s

[J4

ol

17




11-18

002-1 27

(7.5km DID

0.28m3(
(

0.2m3)

)

m3

()

Q)

25.82

4t

25.82

62.21

62.21

11.97

,2  4KL

11.97

[J2]

0.28m3(

).2m3)

7.5km

[J4]

= o

DID

DID

18




11-50 015-1 3

() Q)

21.91

( ) 2 ]
0.28m3[  0.2m3] 21.91

70.90

38.51

32.39

7.19

,2  4KL 7.19

[01]1 = 1 [32] =5 ( )

b b el

[J5] = 1

19




11-59

020-1

m3

()

Q)

( )
0.28m3[

0.2m3]

:2

L 1
60 80kg

48.85

19.39

,2  4KL

]
[J1] = 5

[32] = 1

20




11-59

020-1

m3

()

Q)

[04] =1

21




11-118

045-1

( RC-40

m3

()

Q)

10.

< > (
0.8m3( 0.6) 2.9t

10.

1,2,3

66.

39.

15.

11.

23.

40 Omm

20.

40

,2  4KL

.31

]
[J1] = 1

[J2] = 1

RC-40

22




1vV-140

303-1

15cm

()

Q)

.20

[
20cm

]
@ 56cm

.19

54.

85

19.

02

77

.28

38.

95

56cm(22

)

36.

13

.91

23




1V-140 303-1
7
15cm
D) (D)
1
[J1]1 =1 [J2] =1 15cm
[J5] =1

24




11-55

018-1

m2

()

Q)

22.76

(

)
0.13m3[

2 ]
0.10m3]

22.76

69.45

69.45

7.79

,2  4KL

7.79

[91] = 1

25




11-350

142-1 9

(7.0km DID

m3

()

Q)

19.63

2t

19.63

71.11

71.11

9.26

,2  4KL

9.26

[32] = 4

DID

[c] =9

7.0km

26




11-350 142-1 9
10
C ) m3
(14.4km DID ,
(%) (%)
43.25
[ 1
10t 43.25
42.18
42.18
14.57
,2 AKL 14.57
[ 1
by =1 [J2] = 1
[J3]1 =1 DID DID [JE] = 6 14..4km
[3J]1 =1

27




1v-18 235-1 7
11
( )1 50mm (20) m2
( 1.4m 2.35)
() ()
0.52
( ) 1
0.5 0.6t 0.30
[ 1
40 60kg 0.15
)
45.10
20.23
14.15
4.17
)
54.38
(20) 49.49
(J1SK2208)
( ) PK-3 4.72

28




1V-18 235-1 7
11
( )1 50mm (20) m2
( 1.4m 2.35)
() ()
0.12
,2  4KL 0.03
« )
[ 1
[J2] = 50.000 mm 1 [J11 =1 1.4m 50mm
[A1] = 10 (20) [94] = 3 PK-3
[J6] =1 [A2] = 1
[A3] =1

29




1vV-9

229-1

12

M-30

100mm 1

m2

()

Q)

.59

< > (
0.11m3( 0.08)

.89

1,2,3

< > (
3 4t

.54

1,2

C )

65.

31

27.

38

23.

22

12.

81

29.

10

30 Omm

27.

32

,2  4KL

.73

30




V-9 229-1
12
( ) 100mm 1 m2
( M-30
() €)
C )
[ 1

[J1] = 100.000 mm [J2] =1
[J3] =5 M-30 [04] =1

31




1v-27 239-1

13
215cm2 235cm2 (13)

( , ) )

() Q)

2t 2.25

[ 1
4 4.5m3/h 1.45

C )

52.44

23.74

43.64

(13) 42.28

32




1v-27 239-1
13
215cm2 235cm2 (13)
( C D
() ()
,2  4KL 0.96
0.33
« )
1
[J1] = 6 215cm2 235cm2 [A1] = 3 (13)
[04] = 1 [A2] = 1
[A3] = 1

33




11-121

049-1

14

(18-8-40  60%

m3

()

Q)

< > (
0.8m3( 0.6) 2.9t

1,2,3

< > ( )
0.8m3( 0.6)

1,2,3

69.84

20.39

20.12

10.15

27.63

18-8-40 W/C(60 ),

22.83

,2  4KL

34




11-121 049-1
14
m3
(18-8-40 60% )
Q) ()

« )

1
[N1] = 5 18-8-40(  )W/C60% [J5] = 1
[U2] =1 C ) [N3] =1

35




11-122

050-1

15

(18-8-40  60%

m3

()

Q)

< > (
0.8m3( 0.6) 2.9t

1,2,3

65.97

21.29

15.03

12.65

30.95

18-8-40 W/C(60 ),

29.55

,2  4KL

36




11-122 050-1

15

(18-8-40  60% ) )

() Q)

N1

[y A

5 18-8-40(  )W/C60% [J3] = 1
N3] = 1

37




11-500 144-1 4

16
1
(18-8-40  60% ) )
Q) ()
31.59
14.17
8.26
7.01
« )
68.41
18-8-40 W/C(60 ), 68.41
[ 1
[01] = 1 [J9] = 3
[N1] = 32 18-8-40(  )W/C60% [J5] = 2
[J7] = 2 [J8] = 1
N3] = 1

38




11-508

146-1

17

m2

()

Q)

100.00

47.44

24.80

9.07

1
[91] = 1

[J2] = 1

39




11-500 144-1 4

18
1
(18-8-40  60% ) )
Q) ()
44.48
24.11
9.63
8.56
« )
55.52
18-8-40 W/C(60 ), 55.52
[ 1
[J1] = 2 [J9] = 3
[N1] = 32 18-8-40(  )W/C60% [J5] = 2
[J7] = 2 [J8] = 1
N3] = 1

40




11-508

146-1

19

m2

()

Q)

100.00

45.15

30.47

11.34

1
[J1] = 1

[J2] = 2

41




11-508

146-1

20

m2

()

Q)

100.00

33.19

22.41

8.34

1
[J1] = 2

[J2] = 2

42




11-133 055-1

21
)

() Q)

6.99

< > ( ) 1,2,3
0.28m3(  0.2) 1.7t 6.99

90.20

48.02

22.27

15.72

2.81

,2  4KL 2.81

[J1 [32]1 = 1

[y A

[J3

43




11-134

057-1

22

(18-8-40  60%

m3

()

Q)

.36

< > (
0.28m3( 0.2) 1.7t

.36

1,2,3

32.

12.

11.

.53

65.

18-8-40 W/C(60 ),

64.

,2  4KL

.95

]
[J1] = 1

[N1] = 7

18-8-40(

W/

C60%

44




11-134

057-1

22

(18-8-40

60%

m3

()

Q)

N3] = 1

45




